

## ON A NEW CLASS OF FUNCTIONS RELATED WITH MITTAG-LEFFLER AND WRIGHT FUNCTIONS AND THEIR PROPERTIES

DEEPAK BANSAL AND KHALED MEHREZ

ABSTRACT. In the present paper, we define new class of functions  $T_{\alpha,\beta}(\lambda; z)$  which is an extension of the classical Wright function and the Mittag-Leffler function. We show some mean value inequalities for the this function, such as Turán-type inequalities, Lazarević-type inequalities and Wilker-type inequalities. Moreover, integrals formula and integral inequality for the function  $T_{\alpha,\beta}(\lambda; z)$  are presented.

### 1. Introduction

The Mittag-Leffler function is defined by

$$(1.1) \quad E_{\alpha,\beta}(z) = \sum_{n=0}^{\infty} \frac{z^n}{\Gamma(\alpha n + \beta)} \quad (\alpha, \beta \in \mathbb{C}, \Re(\alpha) > 0, \Re(\beta) > 0, z \in \mathbb{C}).$$

This function was first introduced by G. Mittag-Leffler in 1903 for  $\alpha = 1$  and by A. Winman in 1905 for the general case (1.1). The Mittag-Leffler function arises naturally in the solution of fractional order differential and integral equations, and especially in the investigations of fractional generalization of kinetic equation, random walks, Lévy flights, super-diffusive transport and in the study of complex systems. These functions interpolate between a purely exponential law and power-law like behavior of phenomena governed by ordinary kinetic equations and their fractional counterparts [4–6, 12]. The most essential properties of these entire functions, investigated by many mathematicians, can be found in [1, 2].

The Wright function, denoted by  $W_{\alpha,\beta}(z)$ , was studied in [13] in connection with the asymptotic of the number of some special partitions of the natural

---

Received January 21, 2020; Accepted May 22, 2020.

2010 *Mathematics Subject Classification.* 33E12, 26D07.

*Key words and phrases.* Wright function, Mittag-Leffler function, Turán type inequalities, Lazarević-type inequalities, Wilker-type inequalities.

numbers. It was defined through the convergent series

$$(1.2) \quad W_{\alpha,\beta}(z) = \sum_{n=0}^{\infty} \frac{z^n}{n! \Gamma(\alpha n + \beta)} \quad (\alpha > -1, \beta \in \mathbb{C}, z \in \mathbb{C}).$$

If  $\alpha > -1$ , the series (1.2) is absolutely convergent for all  $z \in \mathbb{C}$ , while for  $\alpha = -1$  this series is absolutely convergent in the unit disk  $\mathbb{D} := \{z : |z| < 1\}$ . Moreover, for  $\alpha > -1$ ,  $W_{\alpha,\beta}$  is entire function of  $z$ . The Wright functions have been used widely in the asymptotic theory of partitions, in the Mikusinski operational calculus and in the theory of integral transforms of Hankel type. Also, the Wright function appeared as the Green function while solving some initial- and boundary-value problems for the fractional diffusion-wave equation, *i.e.*, for the linear partial integro-differential equation obtained from the classical diffusion or wave equation by replacing the first or second order time derivative by a fractional derivative of order  $\alpha$  with  $0 < \alpha \leq 2$  (see, [3, 7]).

The purpose of present work is to define a new function which enable us to study both Mittag-Leffler and Wright function simultaneously. For this we define a new function as follows:

$$(1.3) \quad T_{\alpha,\beta}(\lambda; z) = \sum_{n=0}^{\infty} \frac{z^n}{\Gamma(\alpha n + \beta)(\lambda n! + (1 - \lambda))}.$$

It is easy to see that

$$T_{\alpha,\beta}(0; z) = E_{\alpha,\beta}(z)$$

and

$$T_{\alpha,\beta}(1; z) = W_{\alpha,\beta}(z).$$

Therefore this function enable us to study both Mittag-Leffler and Wright function.

Our aim in this paper is to investigate certain types inequalities for this new function, such as Turán-type inequalities, Lazarević-type inequalities and Wilker-type inequalities.

In the proof of the main results we will need the following lemma, see [11], for more details.

**Lemma 1.1.** *Consider the power series*

$$f(x) = \sum_{n \geq 0} a_n x^n \text{ and } g(x) = \sum_{n \geq 0} b_n x^n,$$

where for all  $n \geq 0$  we have  $a_n, b_n \in \mathbb{R}$  and  $b_n > 0$ , and suppose that both series converge on  $(-r, r)$ ,  $r > 0$ . If the sequence  $\{a_n/b_n\}_{n \geq 0}$  is increasing (decreasing), then the function  $x \mapsto f(x)/g(x)$  is increasing (decreasing) too on  $(0, r)$ .

## 2. Turán type inequalities for the function $T_{\alpha,\beta}(\lambda; x)$

Our first main results are asserted in the following theorem.

**Theorem 2.1.** *Let  $\alpha, \beta > 0$  and  $\lambda \in [0, 1]$ . Then the following assertions are true:*

- (a) *The function  $\beta \mapsto \Gamma(\beta)T_{\alpha,\beta}(\lambda; x) = \mathbb{T}_{\alpha,\beta}(\lambda; x)$  is log-convex on  $(0, \infty)$ .*  
 (b) *The following Turán type inequality*

$$[T_{\alpha,\beta+1}(\lambda; x)]^2 \leq [T_{\alpha,\beta}(\lambda; x)] [T_{\alpha,\beta+2}(\lambda; x)]$$

holds for all  $x \in (0, \infty)$ .

- (c) *For  $n \in \mathbb{N}$ , we define the function  $T_{\alpha,\beta}^n(\lambda; x)$  by*

$$\begin{aligned} T_{\alpha,\beta}^n(\lambda; x) &= T_{\alpha,\beta}(\lambda; x) - \sum_{k=0}^n \frac{x^k}{\Gamma(\alpha k + \beta)(\lambda k! + (1 - \lambda))} \\ &= \sum_{k=n+1}^{\infty} \frac{x^k}{\Gamma(\alpha k + \beta)(\lambda k! + (1 - \lambda))}. \end{aligned}$$

Then the following Turán-type inequality

$$T_{\alpha,\beta}^n(\lambda; x)T_{\alpha,\beta}^{n+2}(\lambda; x) \leq [T_{\alpha,\beta}^{n+1}(\lambda; x)]^2$$

is valid for all  $n \in \mathbb{N}$  and  $\alpha, \beta > 0$  and  $x > 0$ .

*Proof.* (a) To prove log-convexity of  $\beta \mapsto \Gamma(\beta)T_{\alpha,\beta}(\lambda; x)$ , it is enough to show the log-convexity of each individual term and to use the fact that the sum of log-convex function is log-convex too. Thus, we need to show that for each  $n \geq 0$  we have

$$\frac{\partial^2}{\partial \beta^2} \log \left[ \frac{\Gamma(\beta)}{\Gamma(\alpha n + \beta)} \right] = [\psi'(\beta) - \psi'(\alpha n + \beta)] \geq 0,$$

where

$$\psi(x) = \frac{\Gamma'(x)}{\Gamma(x)}$$

is the digamma function. But  $\psi$  is known to be concave, and consequently the function  $\beta \mapsto \Gamma(\beta)T_{\alpha,\beta}(\lambda; x)$  is log-convex on  $(0, \infty)$ .

(b) Since the function  $\beta \mapsto \mathbb{T}_{\alpha,\beta}(\lambda; x)$  is log-convex therefore for all  $\beta_1, \beta_2 > 0$ ,  $x > 0$  and  $\mu \in [0, 1]$ , we have

$$\mathbb{T}_{\alpha,(\mu\beta_1+(1-\mu)\beta_2)}(\lambda; x) \leq [\mathbb{T}_{\alpha,\beta_1}(\lambda; x)]^\mu [\mathbb{T}_{\alpha,\beta_2}(\lambda; x)]^{1-\mu}.$$

Now choosing  $\beta_1 = \beta$ ,  $\beta_2 = \beta + 2$ ,  $\mu = 1/2$ , we have

$$[\mathbb{T}_{\alpha,\beta+1}(\lambda; x)]^2 \leq [\mathbb{T}_{\alpha,\beta}(\lambda; x)] [\mathbb{T}_{\alpha,\beta+2}(\lambda; x)].$$

This completes the proof of part (b).

(c) Let us take  $L(k) = \lambda k! + (1 - \lambda)$  and  $\phi(k) = L(k)/L(k - 1)$ . Doing calculation, we get

$$(2.1) \quad \begin{aligned} \phi(k + 1) - \phi(k) &= \frac{\lambda^2 k!(k - 1)! + \lambda(1 - \lambda)(k - 1)!(k^2 - k + 1)}{(\lambda k! + (1 - \lambda))(\lambda(k - 1)! + (1 - \lambda))} \\ &\geq 0 \text{ (for all } k \geq 1). \end{aligned}$$

This implies  $\phi(k)$  is a non-decreasing function of  $k$ . Now, from the definition of the function  $T_{\alpha,\beta}^n(\lambda; x)$ , for each  $n \in \mathbb{N}$ , we have

$$T_{\alpha,\beta}^n(\lambda; x) = T_{\alpha,\beta}^{n+1}(\lambda; x) + \frac{x^{n+1}}{\Gamma(\alpha(n + 1) + \beta)L(n + 1)}$$

and

$$T_{\alpha,\beta}^{n+2}(\lambda; x) = T_{\alpha,\beta}^{n+1}(\lambda; x) - \frac{x^{n+2}}{\Gamma(\alpha(n + 2) + \beta)L(n + 2)}.$$

Now

$$\begin{aligned} &T_{\alpha,\beta}^n(\lambda; x)T_{\alpha,\beta}^{n+2}(\lambda; x) - \left[T_{\alpha,\beta}^{n+1}(\lambda; x)\right]^2 \\ &= T_{\alpha,\beta}^{n+1}(\lambda; x) \left( \frac{x^{n+1}}{\Gamma(\alpha(n + 1) + \beta)L(n + 1)} - \frac{x^{n+2}}{\Gamma(\alpha(n + 2) + \beta)L(n + 2)} \right) \\ &\quad - \frac{x^{2n+3}}{\Gamma(\alpha(n + 1) + \beta)L(n + 1)\Gamma(\alpha(n + 2) + \beta)L(n + 2)} \\ &= \sum_{k=n+3}^{\infty} \left( \frac{x^{k+n+1}}{\Gamma(\alpha k + \beta)L(k)\Gamma(\alpha(n + 1) + \beta)L(n + 1)} - \frac{x^{k+n+1}}{\Gamma(\alpha(k - 1) + \beta)L(k - 1)\Gamma(\alpha(n + 2) + \beta)L(n + 2)} \right) \\ &= \sum_{k=n+3}^{\infty} \frac{1}{L(k)L(n + 2)\Gamma(\alpha k + \beta)\Gamma(\alpha(n + 2) + \beta)} \\ &\quad \times \left( \frac{\Gamma(\alpha(n + 2) + \beta)L(n + 2)}{\Gamma(\alpha(n + 1) + \beta)L(n + 1)} - \frac{\Gamma(\alpha k + \beta)L(k)}{\Gamma(\alpha(k - 1) + \beta)L(k - 1)} \right) x^{k+n+1}. \end{aligned}$$

In view of non-decreasingness of  $\phi(k)$  and the fact that  $\frac{\Gamma(x+a)}{\Gamma(x)}$  is a increasing function of  $x$  for all  $a \in (0, \infty)$ , it is easy to see that the second term in the bracket is a increasing function of  $k$ , while the first term is a constant. If we show that the first term of the summation is negative then all other term will also become negative. Now

$$\frac{\Gamma(\alpha(n + 3) + \beta)L(n + 3)}{\Gamma(\alpha(n + 2) + \beta)L(n + 2)} \geq \frac{\Gamma(\alpha(n + 2) + \beta)L(n + 2)}{\Gamma(\alpha(n + 1) + \beta)L(n + 1)}$$

by again using the same non-decreasingness of  $\phi(k)$  and increasingness of  $\frac{\Gamma(x+a)}{\Gamma(x)}$ . Therefore the first term of summation is negative for  $k = n + 3$  and hence all the term of summation is also negative. Thus we can conclude that

$$T_{\alpha,\beta}^n(\lambda; x)T_{\alpha,\beta}^{n+2}(\lambda; x) - \left[T_{\alpha,\beta}^{n+1}(\lambda; x)\right]^2 \leq 0.$$

This completes the proof of part (c). □

*Remark 2.2.* For  $\lambda = 0$  in Theorem 2.1, we get the results proved by Mehrez and Sitnik in [9, 10] and the results corresponding to  $\lambda = 1$  are proved by Mehrez in [8].

**Theorem 2.3.** *Let  $\alpha, \beta_1, \beta_2 > 0$  and  $\lambda \in [0, 1]$*

- a. *If  $\beta_2 > \beta_1$  ( $\beta_2 < \beta_1$ ), then the function  $x \mapsto T_{\alpha, \beta_1}(\lambda; x)/T_{\alpha, \beta_2}(\lambda; x)$  is increasing (decreasing) on  $(0, \infty)$ .*
- b. *If  $\beta_2 > \beta_1 > 1$ , then following Turán type inequality holds:*

$$(2.2) \quad T_{\alpha, \beta_2}(\lambda; x)T_{\alpha, \beta_1-1}(\lambda; x) - T_{\alpha, \beta_1}(\lambda; x)T_{\alpha, \beta_2-1}(\lambda; x) + (\beta_2 - \beta_1)T_{\alpha, \beta_1}(\lambda; x)T_{\alpha, \beta_2}(\lambda; x) \geq 0.$$

*In particular, the Turán type inequality*

$$(2.3) \quad T_{\alpha, \beta}(\lambda; x)T_{\alpha, \beta+2}(\lambda; x) - T_{\alpha, \beta+1}^2(\lambda; x) + T_{\alpha, \beta+1}(\lambda; x)T_{\alpha, \beta+2}(\lambda; x) \geq 0.$$

*Proof.* Using (1.3), we have

$$\begin{aligned} & T_{\alpha, \beta_1}(\lambda; x)/T_{\alpha, \beta_2}(\lambda; x) \\ &= \sum_{n=0}^{\infty} \frac{x^n}{\Gamma(\alpha n + \beta_1)(\lambda n! + (1 - \lambda))} / \sum_{n=0}^{\infty} \frac{x^n}{\Gamma(\alpha n + \beta_2)(\lambda n! + (1 - \lambda))}. \end{aligned}$$

In view of Lemma 1.1, we need to study the monotonicity of sequence  $\{u_k\}_{k \geq 0}$  defined by:

$$(2.4) \quad u_k = \frac{\Gamma(\alpha k + \beta_2)}{\Gamma(\alpha k + \beta_1)} = \frac{\Gamma(\alpha k + \beta_1 + (\beta_2 - \beta_1))}{\Gamma(\alpha k + \beta_1)} \quad (k \geq 0);$$

$$(2.5) \quad u_k = \frac{\Gamma(\alpha k + \beta_2)}{\Gamma(\alpha k + \beta_1)} = \frac{\Gamma(\alpha k + \beta_2)}{\Gamma(\alpha k + \beta_2 + (\beta_1 - \beta_2))} \quad (k \geq 0).$$

If  $\beta_2 > \beta_1$ , then (2.4) together with the fact that  $\frac{\Gamma(x+a)}{\Gamma(x)}$  is a increasing function of  $x$  in  $(0, \infty)$  implies that the  $\{u_k\}_{k \geq 0}$  is a monotonically increasing sequence on  $(0, \infty)$  and hence the function  $x \mapsto T_{\alpha, \beta_1}(\lambda; x)/T_{\alpha, \beta_2}(\lambda; x)$  is increasing in view of Lemma 1.1.

If  $\beta_1 > \beta_2$ , then (2.5) together with the fact that  $\frac{\Gamma(x)}{\Gamma(x+a)}$  is a decreasing function of  $x$  in  $(0, \infty)$  implies that the  $\{u_k\}_{k \geq 0}$  is a monotonically decreasing sequence on  $(0, \infty)$  and hence the function  $x \mapsto T_{\alpha, \beta_1}(\lambda; x)/T_{\alpha, \beta_2}(\lambda; x)$  is increasing in view of Lemma 1.1.

It is easy to verify that

$$(2.6) \quad \frac{d}{dx} T_{\alpha, \beta}(\lambda; x) = \frac{T_{\alpha, \beta-1}(\lambda; x) - (\beta - 1)T_{\alpha, \beta}(\lambda; x)}{\alpha x}.$$

Now using (2.6) and part a of Theorem 2.3 for  $\beta_2 > \beta_1 > 1$ , we have

$$\left[ \frac{T_{\alpha, \beta_1}(\lambda; x)}{T_{\alpha, \beta_2}(\lambda; x)} \right]' = \frac{T_{\alpha, \beta_1-1}(x)T_{\alpha, \beta_2}(x) - T_{\alpha, \beta_2-1}(x)T_{\alpha, \beta_1}(x) + (\beta_2 - \beta_1)T_{\alpha, \beta_1}(x)T_{\alpha, \beta_2}(x)}{\alpha x T_{\alpha, \beta_2}^2(x)} \geq 0.$$

This completes the proof of (2.2). Finally, choosing  $\beta_1 = \beta + 1$  and  $\beta_2 = \beta + 2$  in the inequality (2.2), we obtain (2.3).  $\square$

**3. Lazarević and Wilker-type inequalities for the function  $T_{\alpha,\beta}(\lambda; x)$**

**Theorem 3.1.** *Let  $\alpha, \beta_1, \beta_2 > 0$  be such that  $\beta_1 \geq \beta_2 > 1$ . Then the following inequality holds for all  $x \in \mathbb{R}$*

$$(3.1) \quad [T_{\alpha,\beta_1}(\lambda; x)]^{\frac{1}{\beta_1-1}} \leq [T_{\alpha,\beta_2}(\lambda; x)]^{\frac{1}{\beta_2-1}} .$$

*Proof.* From Theorem 2.1 the function  $\beta \mapsto \log[T_{\alpha,\beta}(\lambda; x)]$  is convex and hence it follows that  $\beta \mapsto \log[T_{\alpha,\beta+a}(\lambda; x)] - \log[T_{\alpha,\beta}(\lambda; x)]$  is increasing for each  $a > 0$ . Thus, choosing  $a = 1$  we obtain that indeed the function  $\beta \mapsto \frac{T_{\alpha,\beta+1}(\lambda; x)}{T_{\alpha,\beta}(\lambda; x)}$  is increasing on  $(0, \infty)$ . Now providing that  $\beta_1 \geq \beta_2 > 1$

$$\Phi(x) = \frac{1}{\beta_1 - 1} \log[T_{\alpha,\beta_1}(\lambda; x)] - \frac{1}{\beta_2 - 1} \log[T_{\alpha,\beta_2}(\lambda; x)],$$

differentiating with respect to  $x$

$$\Phi'(x) = \frac{1}{\alpha z} \left[ \frac{T_{\alpha,\beta_1-1}(\lambda; x)}{T_{\alpha,\beta_1}(\lambda; x)} - \frac{T_{\alpha,\beta_2-1}(\lambda; x)}{T_{\alpha,\beta_2}(\lambda; x)} \right].$$

Since the function  $\beta \mapsto \frac{T_{\alpha,\beta+1}(\lambda; x)}{T_{\alpha,\beta}(\lambda; x)}$  is increasing on  $(0, \infty)$  and  $\beta_1 \geq \beta_2 > 1$ , this implies

$$(3.2) \quad \frac{T_{\alpha,\beta_1-1}(\lambda; x)}{T_{\alpha,\beta_1}(\lambda; x)} \leq \frac{T_{\alpha,\beta_2-1}(\lambda; x)}{T_{\alpha,\beta_2}(\lambda; x)} .$$

This gives  $x \mapsto \Phi(x)$  is decreasing on  $(0, \infty)$  and increasing on  $(-\infty, 0)$ . Consequently  $\Phi(x) \leq \Phi(0) = 0$  for all  $x \in \mathbb{R}$ . This completes the proof.  $\square$

**Corollary 3.2.** *Let  $\alpha, \beta_1, \beta_2 > 0$  such that  $\beta_1 \geq \beta_2 > 1$ . Then the following inequality*

$$(3.3) \quad \frac{T_{\alpha,\beta_2}(\lambda; x)}{T_{\alpha,\beta_1}(\lambda; x)} + [T_{\alpha,\beta_2}(\lambda; x)]^{\frac{\beta_1-\beta_2}{\beta_2-1}} \geq 2,$$

holds true for all  $x > \in \mathbb{R}$  and  $\lambda \in [0, 1]$ .

*Proof.* Keeping (3.1) in mind, we get

$$\frac{[T_{\alpha,\beta_2}(\lambda; x)]^{\frac{\beta_1-1}{\beta_2-1}}}{T_{\alpha,\beta_1}(\lambda; x)} = \frac{T_{\alpha,\beta_2}(\lambda; x)}{T_{\alpha,\beta_1}(\lambda; x)} [T_{\alpha,\beta_2}(\lambda; x)]^{\frac{\beta_1-\beta_2}{\beta_2-1}} \geq 1.$$

In view of this expression and the arithmetic-geometric mean inequality, we get

$$\frac{1}{2} \left[ \frac{T_{\alpha,\beta_2}(\lambda; x)}{T_{\alpha,\beta_1}(\lambda; x)} + [T_{\alpha,\beta_2}(\lambda; x)]^{\frac{\beta_1-\beta_2}{\beta_2-1}} \right] \geq \sqrt{\frac{[T_{\alpha,\beta_2}(\lambda; x)]^{\frac{\beta_1-1}{\beta_2-1}}}{T_{\alpha,\beta_1}(\lambda; x)}} \geq 1. \quad \square$$

**4. Integral formula and integral inequality for the function  $T_{\alpha,\beta}(\lambda; z)$**

Using (1.3) it can be easily seen that

$$(4.1) \quad \frac{d}{dz} [z^\beta T_{\alpha,\beta+1}(\lambda; z^\alpha)] = z^{\beta-1} T_{\alpha,\beta}(\lambda; z^\alpha).$$

Integrating (4.1) between the limits 0 to  $x$ , we have

$$(4.2) \quad \int_0^x z^{\beta-1} T_{\alpha,\beta}(\lambda; z^\alpha) dz = x^\beta T_{\alpha,\beta+1}(\lambda; x^\alpha).$$

**Theorem 4.1.** *Let  $\alpha > 0$  and  $\beta > 0$ . Then the following integral formula holds for all  $x > 0$ :*

$$(4.3) \quad \int_0^x \left[ \frac{T_{\alpha,\beta-1}(\lambda; z) T_{\alpha,\beta+1}(\lambda; z)}{T_{\alpha,\beta-1}^2(\lambda; z)} + (1 - \alpha) \frac{T_{\alpha,\beta+1}(\lambda; z)}{T_{\alpha,\beta}(\lambda; z)} \right] dz = x \left( 1 - \alpha \frac{T_{\alpha,\beta+1}(\lambda; x)}{T_{\alpha,\beta}(\lambda; x)} \right).$$

*Proof.* Let us consider a function

$$G_{\alpha,\beta}^\lambda(z) = \frac{T_{\alpha,\beta+1}(\lambda; z)}{T_{\alpha,\beta}(\lambda; z)}, \quad z > 0.$$

Differentiating it with respect to  $z$  and using (2.6), we obtain

$$(4.4) \quad \frac{d}{dz} (G_{\alpha,\beta}^\lambda(z)) = \frac{1}{\alpha z} \left[ 1 - G_{\alpha,\beta}^\lambda(z) - \frac{G_{\alpha,\beta}^\lambda(z)}{G_{\alpha,\beta-1}^\lambda(z)} \right]$$

and consequently

$$(4.5) \quad \frac{d}{dz} (z G_{\alpha,\beta}^\lambda(z)) = \frac{1}{\alpha} \left[ (\alpha - 1) G_{\alpha,\beta}^\lambda(z) + 1 - \frac{G_{\alpha,\beta}^\lambda(z)}{G_{\alpha,\beta-1}^\lambda(z)} \right].$$

Integrating both sides of the above equation over  $(0, x)$  and rearranging gives the required result. □

**Theorem 4.2.** *Let  $\alpha > 0$  and  $\beta > 1$  then the following inequality*

$$(4.6) \quad \frac{T_{\alpha,\beta+1}(\lambda; x^\alpha)}{T_{\alpha,\beta}(\lambda; x^\alpha)} \leq \frac{1}{(\beta + 1)} + \frac{T_{\alpha,\beta+2}(\lambda; x^\alpha)}{T_{\alpha,\beta}(\lambda; x^\alpha)},$$

*holds true for all  $x > 0$ . However, the inequality (4.6) is reversed if  $0 < \beta < 1$ .*

*Proof.* Since the function

$$z \rightarrow \frac{T_{\alpha,\beta}(\lambda; z)}{T_{\alpha,\beta+1}(\lambda; z)}$$

is increasing on  $(0, \infty)$ , therefore we have

$$(4.7) \quad T_{\alpha,\beta+1}(\lambda; z) \leq \frac{T_{\alpha,\beta}(\lambda; z)}{\beta}.$$

This implies that

$$(4.8) \quad \int_0^x z^\beta T_{\alpha,\beta}(\lambda; z^\alpha) dz \leq \frac{1}{\beta - 1} \int_0^x z^\beta T_{\alpha,\beta-1}(\lambda; z^\alpha) dz.$$

Integrating by parts, we get

$$(4.9) \quad \begin{aligned} \int_0^x z^\beta T_{\alpha,\beta-1}(\lambda; z^\alpha) dz &= \int_0^x z^2 [z^{\beta-2} T_{\alpha,\beta-1}(\lambda; z^\alpha)] dz \\ &= [z^{\beta+1} T_{\alpha,\beta}(\lambda; z^\alpha)]_0^x - 2 \int_0^x z^\beta T_{\alpha,\beta}(\lambda; z^\alpha) dz \\ &= x^{\beta+1} T_{\alpha,\beta}(\lambda; x^\alpha) - 2 \int_0^x z^\beta T_{\alpha,\beta}(\lambda; z^\alpha) dz. \end{aligned}$$

In view of (4.8) and (4.9) we obtain

$$\int_0^x z^\beta T_{\alpha,\beta}(\lambda; z^\alpha) dz \leq \frac{1}{\beta - 1} \left( x^{\beta+1} T_{\alpha,\beta}(\lambda; x^\alpha) - 2 \int_0^x z^\beta T_{\alpha,\beta}(\lambda; z^\alpha) dz \right),$$

which implies that

$$\left( 1 + \frac{2}{\beta - 1} \right) \int_0^x z^\beta T_{\alpha,\beta}(\lambda; z^\alpha) dz \leq \frac{x^{\beta+1}}{\beta - 1} T_{\alpha,\beta}(\lambda; x^\alpha),$$

and consequently the following inequality

$$(4.10) \quad \int_0^x z^\beta T_{\alpha,\beta}(\lambda; z^\alpha) dz \leq \frac{x^{\beta+1}}{\beta + 1} T_{\alpha,\beta}(\lambda; x^\alpha),$$

holds true for all  $\beta > 1$  and reversed if  $0 < \beta < 1$ . Moreover, on using integration by parts and (4.2), we have

$$\begin{aligned} \int_0^x z^\beta T_{\alpha,\beta}(\lambda; z^\alpha) dz &= \int_0^x z (z^{\beta-1} T_{\alpha,\beta}(\lambda; z^\alpha)) dz \\ &= x^{\beta+1} T_{\alpha,\beta+1}(\lambda; x^\alpha) - \int_0^x z^\beta T_{\alpha,\beta+1}(\lambda; z^\alpha) dz \\ &= x^{\beta+1} [T_{\alpha,\beta+1}(\lambda; x^\alpha) - T_{\alpha,\beta+2}(\lambda; x^\alpha)]. \end{aligned}$$

In view of the above formula and (4.10), we get required result. □

**Theorem 4.3.** *Let  $\alpha > 0$  and  $\beta > 0$ , we define the functions*

$$(4.11) \quad I_{\alpha,\beta,0}(\lambda; x) = x^\beta T_{\alpha,\beta}(\lambda; x^\alpha)$$

and

$$(4.12) \quad I_{\alpha,\beta,n}(\lambda; x) = \int_0^x I_{\alpha,\beta,n-1}(\lambda; t) dt \quad (n \in \mathbb{N})$$

if  $\beta > 1$  and  $0 < x < 1$ , then

$$(4.13) \quad I_{\alpha,\beta,n+1}(\lambda; x) \leq \frac{1}{\beta + 1} I_{\alpha,\beta,n}(\lambda; x).$$

In addition, the inequality (4.13) is reversed if  $0 < \beta < 1$ .



*Proof.* Let  $\beta > 1$  and  $0 < x < 1$ . Applying (4.10) we thus get

$$\begin{aligned} I_{\alpha,\beta,1}(\lambda; x) &= \int_0^x I_{\alpha,\beta,0}(\lambda; t) dt = \int_0^x t^\beta T_{\alpha,\beta}(\lambda; t^\alpha) \\ &\leq \frac{x^{\beta+1}}{\beta+1} T_{\alpha,\beta}(\lambda; x^\alpha) \\ &\leq \frac{x^\beta T_{\alpha,\beta}(\lambda; x^\alpha)}{\beta+1} \\ &= \frac{I_{\alpha,\beta,0}(\lambda; x^\alpha)}{\beta+1}. \end{aligned}$$

Integrating both sides of the above inequality  $n$  times with respect to  $x$  yields the desired result.  $\square$

### References

- [1] M. M. Džrbašjan, *Integral transforms and representations of functions in the complex domain* (Russian), Izdat. "Nauka", Moscow, 1966.
- [2] A. Erdélyi, W. Magnus, F. Oberhettinger, and F. G. Tricomi, *Higher Transcendental Functions*, Vol. 3, New York, McGraw-Hill, 1955.
- [3] R. Gorenflo, Y. Luchko, and F. Mainardi, *Analytic properties and applications of Wright functions*, *Frac. Cal. Appl. Anal.* **2** (1999), no. 4, 383–414.
- [4] R. Hilfer, *Applications of Fractional Calculus in Physics*, World Scientific Publishing Co., Inc., River Edge, NJ, 2000. <https://doi.org/10.1142/9789812817747>
- [5] K. R. Lang, *Astrophysical Formulae, Vol. 1: Radiation, Gas Processes and High-energy Astrophysics*, 3rd edition, Revised edition, Springer-Verlag, New York, 1999.
- [6] ———, *Astrophysical Formulae, Vol. 2: Space, Time, Matter and Cosmology*, Springer-Verlag, New York, 1999.
- [7] F. Mainardi, *The fundamental solutions for the fractional diffusion-wave equation*, *Appl. Math. Lett.* **9** (1996), no. 6, 23–28. [https://doi.org/10.1016/0893-9659\(96\)00089-4](https://doi.org/10.1016/0893-9659(96)00089-4)
- [8] K. Mehrez, *Functional inequalities for the Wright functions*, *Integral Transforms Spec. Funct.* **28** (2017), no. 2, 130–144. <https://doi.org/10.1080/10652469.2016.1254628>
- [9] K. Mehrez and S. M. Sitnik, *Functional inequalities for the Mittag-Leffler functions*, *Results Math.* **72** (2017), no. 1-2, 703–714. <https://doi.org/10.1007/s00025-017-0664-x>
- [10] ———, *Turán type inequalities for classical and generalized Mittag-Leffler functions*, *Anal. Math.* **44** (2018), no. 4, 521–541. <https://doi.org/10.1007/s10476-018-0404-9>
- [11] S. Ponnusamy and M. Vuorinen, *Asymptotic expansions and inequalities for hypergeometric functions*, *Mathematika* **44** (1997), no. 2, 278–301. <https://doi.org/10.1112/S0025579300012602>
- [12] R. K. Saxena, A. M. Mathai, and H. J. Haubold, *On fractional kinetic equations*, *Astrophysics and Space Science* **282** (2002), 281–287.
- [13] E. M. Wright, *On the Coefficients of Power Series Having Exponential Singularities*, *J. London Math. Soc.* **8** (1933), no. 1, 71–79. <https://doi.org/10.1112/jlms/s1-8.1.71>

DEEPAK BANSAL  
 DEPARTMENT OF MATHEMATICS  
 COLLEGE OF ENGG. AND TECHNOLOGY  
 BIKANER 334004, RAJASTHAN, INDIA  
*Email address:* deepakbansal\_79@yahoo.com

KHALED MEHREZ  
DEPARTEMENT DE MATHÉMATIQUES  
ISSAT KASSERINE  
UNIVERSITÉ DE KAIROUAN, TUNISIA  
AND  
DÉPARTEMENT DE MATHÉMATIQUES  
FACULTÉ DES SCIENCES DE TUNIS  
UNIVERSITÉ TUNIS EL MANAR, TUNISIA  
*Email address:* [k.mehrez@yahoo.fr](mailto:k.mehrez@yahoo.fr)